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Topic:- Child Development & Pedagogy (CDP)

1) Which of the following statement is true? / fFufsfea A P T HYT 9w %?

1. Growth is only a mental process. / q@ $HId U ARG Uihar g

2. Heredity doesn’t affect on learning process. / 3fIaifRIdar SIfEATH Ufehar &1 gHTfad 8! x|
3. Development is only a quantitative process. / 9T Hadt T AETHS UfHAT R |

4, Learning is a process of behavioral changes. / 3If9RTH TagIRS gfkad-l &1 ufshar g

Correct Answer :-

« Learning is a process of behavioral changes. / 31fORTH ST IR B! Ufehal gl

2) How many clinical scales were there in the original Minnesota Multiphasic

Personality Inventory (MMPI)? / §d fFter At Rie wifid! gdedt (quuadiang) #
IELEEIEER G E R

1. Nine / Cil
2. Eleven / TIRg
3. Ten / cd

4. Twelve / dIRg

Correct Answer :-

3) Which one is NOT the Psychological principle of teaching? / P T TR FReor o7
T Rigid T8 82

1. Proceed from known to unknown. / o ATd I S{IITd Pl 3R dedl %I

2. Proceed from simple to difficult. /Gﬁ IR A Bfe Bl 3R W%I



3. Proceed from complex to simple. /\_rh Sifed ¥ WA B 3R W%I
4. Proceed from concrete to abstract. / il BT ﬁﬁ[&ﬁ DI AR a?,!_cIT%I

Correct Answer :-

e Proceed from complex to simple. /GﬁﬁlﬁﬁQWﬁ GhTaE_dT%I

4) Inclusive education is currently a strategy of education based on the based

approach. / THASN RigTadq@®  amerika eI & e u= Riam @1 ve 0 21
1. Sympathy / FgHfd

2. Charity / §F

3. Apathy / SaRIHdT

4. Rights / 3TIPR

Correct Answer :-

. Rights / TDR

5) Gender Schema theory was introduced by WA Ge] (\_;]'?R THIH)
Rrgid & gRTuSd fearman o

1. Jean Piaget / i fogret
2. Kohlberg / ﬁ%ﬂaﬁ

3. Erikson / Qﬁ_olﬂ:f
4. Sandra Bem / H@Taﬁ

Correct Answer :-

» Sandra Bem / H@Taq

6) According to Vygotsky’s theory, the most suitable instruction to support social learning is
./ AEMa®! & fRigia & SR, GrATS R & 0 #v & e gad Suge
frdw 2l
1. curriculum / UT&RIhH
2. students work together on the task / &1 E|7—|'3'—f TR UDh Y h1H Hd % |
3. students” individual work / BTAT & RN BT
4. traditional teaching / URURS g

Correct Answer :-



« students work together on the task / ST IR Th Y Hh1H I % |

7) What are tests that rely heavily on language based reasoning called? /

Y U&10T T HEATd & Sl HTST MR dhefad iR AR &3 82

1. Accuracy tests /QIQQ!@(‘H PR
2. Culture fair tests / G Td D UI&UT

3. Verbal tests / m Qﬁ&rﬂT
4. Nonverbal tests / W qﬁ&‘l'UT

Correct Answer :-

« Verbal tests / HIRAPH TRieor

8) What aspect of personality makes a child more likely to be outgoing? /

Afid & [P Tgq d 7= & ey (FEifeh 9 &t FuTa=T 96 el 2
1. Extraversion / SfgHad

2. Introversion / S{THEdl

3. Socialisation / GHTSIHRUT

4. Neuroticism / W
Correct Answer :-

 Extraversion / EI'%'EI'@HT

9) Bandura’s 4 principles of social learning are: / TrTioTe SRR & agT & 4 Rygia I UDPR f
1. Metacognition, Attention, Engagement, Motivation/ W, &I, 9 sld, RO

2. Retention, Cognition, Attention, Motivation/ Elﬁf‘iﬂTUT, &Iﬂ'l-jj%f, T, RN

3. Attention, Retention, Reproduction, Motivation/ ¥, Qﬁf%ﬂw, U, RO

4. Attention, Engagement, Collaboration, Motivation/ ¥4, JgId, ‘v‘l’e@ﬂ, TRUT

Correct Answer :-

 Attention, Retention, Reproduction, Motivation/ &I, Uﬁ%ﬂw, PSEER RO

10) Adolescences form their own image and integrate their own ideas as to how they wish to be

referred to, this is /ﬁWﬁ?MWﬁEﬁaﬂﬁ%aﬁ?&Nﬁm%ﬁaﬁaﬁQﬁﬁ
T & 6 3 e e wefifa g9 amed |, 95 weamar 3

1. Crisis / gbc



2. Ego identity / 38 UgdH
3. Ego ideal /3(8 31X

4, Ego / 38

Correct Answer :-
« Ego identity / 38 UgaH

11) At what age does the child learn to control the expression of emotions? / yra-Tsii ot Sifireafad
oI frfa 1 a=a {5 omg & Hraar 82

1. Adolescence / TP RIRTaRIT
2. Birth to two years / ST H I Eﬁ ay do
3. Late childhood / U¥Y STcOTdR[T

4. Early childhood / URT¥eh STeura=T

Correct Answer :-

« Early childhood / URI¥h STeama=T

12) Which of the following theories acts as a bridge between behavioral and cognitive learning

theories? / FAfIfaa & & Pi1- A1 g suagR iR AT Siftrm Rigial & o tw Ag
BT HTH Bl 82

1. Humanistic theory / ATadIdTG] (W) R

2. Cognitive development theory / TS faen Rigr
3. Social learning theory / THISID ST g

4. Existential theory / 3T Rigrd

Correct Answer :-

« Social learning theory / TTHTSTE SHfEATH RigT

13) Which of these statements is true with regard to aptitude and competence? /E:F?fﬁ -

HY GRYT 3R &HAT P Ha9 § T 82
1. Aptitude is an inborn potential to do something. / & B b T TG Teb STHGITd FUTSAT

(@Tderan) ]
2. An aptitude is a developed knowledge. / grgar T famRid I %I

3. A competence is a part of an aptitude. / &HdI TP gl &1 U gl gl

4. A competence is an inborn potential to do something. / P& A D ﬁ“l'q &HdT Ueh SIS HHTAAT

(@) 1



Correct Answer :-

 Aptitude is an inborn potential to do something. / P& A D fam grgar Th ST GHTIAT

(BTH&H) B |

14) Who introduced the term L.Q. (Intelligence Quotient)? / 6T 31Ms. 9, (§fS SUarsuan) ug &1
ufaufea faar?

1. Terman / TH

2. Galton / eed

3. Binet / fae

4. Guilford / FiaT®rS

Correct Answer :-

o Terman /THT

15) The psychologist who discovered that children’s perception of reality is not learned from adults

but is constructed is: / T8 AIAID ORI Ul AT fh T=dl S IRAfIPdT B YR TATHI A
Y et wirelt B, Afp st fAwtor far smar 8 9 8:

1. Jean Piaget / S foarst

2. BF Skinner / &I Uh PR

3. Arnold Gesell / 3{1eS TRId

4, Howard Gardner / _(halé MR

Correct Answer :-

« Jean Piaget / ST TSt

16) During which stage do children start reasoning? / fFd /a1 # a8 qH BT TR PIAE?
1. Adolescence / [ RIRTaRIT

2. Late Childhood / 3TIR STcHTaRT

3. Infancy / AR

4, Early Childhood / Jd STeaTa®l

Correct Answer :-

o Late Childhood / 3<R dedTdRT



Teachers should take a/an rather than group perspectives when
considering diversity in the classroom. / D &[T A fafgear v foar &= THY,
Rigrel o Tqg & =R & 9 TH & eI B S @1
ElIHY

1. Group factor / JHg PRD
2. Opinion / 3ffHwd

3. Student / T4

4, Individual /WTH

Correct Answer :-

« Individual / SAfFITd

18) Which of the following is not an aspect of metacognition? / fFafaf@a d &
T Y (HSTHRAIRI) BT TH Ugq 8l 82

1. Altering consciousness/dT H AT

2. Revising cognitive strategies/SITTH® U B HNTAT HRAT

3. Planning cognitive strategies / HHTHSD JUFITGA! Dt ISt g1

4. Monitoring cognitive strategies / SITTHD JUHITAA! B AR B

Correct Answer :-

« Altering consciousness/dd-l H @

19) Which of the following is not true about the teaching process? / frafafaa
H Rreqor ufhar & TR o w1 I 7Y 82

1. Teaching is the process with a purpose to bring about learning. / Rgur e B%QCI & 1Y
ST &1 ufshan g |

2. Teaching does not sway the whole process of learning. /QT&‘I'UTf[ &Wﬁﬁmqﬁ
B 5

3. Teaching does not need a formal set-up. /ﬁT&WT%ﬁ'IH @W@ﬁuﬁﬁ Wqﬁ
gl

4. Teaching should be centred around student. / TRI&0T B & 3-U ofgd gIHT AT

Correct Answer :-

« Teaching does not need a formal set-up. /QW%%’Q W@ﬁmﬁﬁ Wqﬁ
gl



20) Which of the following does not apply to the brainstorming process? /

frufafaa & @ s fRer fawef ufear & e arg =) gar &2

1. Generation of unusual ideas. / 3FHTI fdART BT Gor |
2. Criticism of ideas. / foaRI &t @RI

3. Associating different ideas to come up with a new one. / T & 1Y 3 & foQ fAfya foaRi &1
S|

4. Quantity is more important than quality. / TOTaT &1 e & AET 3w Agayuf B

Correct Answer :-

« Criticism of ideas. / faaRI &t 3TAR—ATI

21) According to Martin and Halverson, when young children observed gender inconsistent
behavior, they tend to have:

/ ATFEA 3R BRI & UK, 9 DI F=1 1 o & 3T sqagR &1 raaie faar,

1. A distortion of memory/ F{% Cdl m
2. An accurate memory / U Tcld Fﬂﬁf

3. A rejection of the behavior/ dgIR Gl G@Tﬁ

4. An imitation of the behavior/ oddgIX aﬁ "]

Correct Answer :-

A distortion of memory/ Fﬂﬁf o ﬁ?ﬁl

22) What problem do children with anorexia nervosa typically have? @%@m aaren 9§

ufRrd T= &t falRE T I w7 guw gl 82
1. Problems with impulse control / 3T F=T0T & A1y A
2. Problems with body image RRR gfaw T & 91y AU

3. Reduced physical exercise / H I RS ™™
4. Excessive eating / ATAPH IS HRAT

Correct Answer :-
« Problems with body image /RRIR UfcHT & 1Y THWTY

23) What is more likely to help a child remember a story by Tagore? / SR gRI Udh CaAE]

P YT 7@ A T Bl HEE P DI UfUP JHTTAT FT 82

1. The moral of the story / HEMI B1 s



2. The size of the story / HgTI BT SHTHR
3. The font of the letters / 3{&R] &1 B

4. The colour of the title /Qﬂ'd:aa IR

Correct Answer :-

« The moral of the story / B8 BT s

24) Eliminating caffeine and sugar from diet before bedtime ensures - / T ¥ Ugd 3R 9§

FHI AR At BT TUTE AT 3 AT Ha1 8
1. Reduction in stress / T1d & HHT

2. Good functions of muscles / HIAUTR & dgdR UH

3. Good sleep / 3B Hlg

4. Good absorption of nutrients / UIN& dedl T 3BT ALYl

Correct Answer :-

» Good sleep / 31 Hlg

25) How information is typically stored in semantic memory? / 3{H MR W

T e (Rfes A9 & s} 34 Judia it 22
1. Networks/Heda|

2. Skills/ DI

3. Tasks /@71

4. Groups /ﬂﬂ@

Correct Answer :-

. Networks/w

26) CANCELLED

Which chart shows that the highest return of investment in education is maximum during the early

years? / PI-HT AW SR & b et auf & SR e & o= 1 Red sifpau g2
1. Heckman’s / %ao‘ﬁ?
2. Wisconsin’s/ a1~

3. Hurlock’s / E'QT’IV'IEI'T
4. Puberty’s / BIGEG|



Correct Answer :-

e Heckman’s / %ﬁ:[

27) Mild retardation is a category of mental retardation having an IQ of .

| 9g WHeal AAR®G Hear el qoiig o _ w1 adeg gar g1
1. 70 to 89 / 70 ¥ 89 dh
2.201029 /209 29 dh
3.50 to 69 /50 ¥ 69 b

4.30t0 49 /30 ¥ 49 A&

Correct Answer :-

.« 50t069 /50" 69 ddH

28) To improve the problem solving skills in children, which of the following

things can be done?/ S & GHHTSH B YA & SN H YUR $H1 F o,
fFrafafaa o 3« far s g@war g2

1. All of the above / SURTa T
2. Invite children to talk or write about ideas only / $Had [aaRl & R & &1 A a1 fore- &
foQ o=t Y ST B3|

3. Ask children to draw pictures for stories only / gl § had Hel=dl & fofd o a9M &l B3|

4. Use blocks and models only / Had D 3R AISH BT ST Be |

Correct Answer :-

« All of the above / 3URad IHt
29) Inclusive education means: / GHTARN fR1& &7 3 &8:

1. %ducation for all children in school. / ¥hd & T sl & for fRuem | graxf fRran &1 31

2. Education of intelligent children. / SfdM a=i &1 fRraf|
3. Education of the poor children / TRId S=d &1 fRref
4. Education of the minorities / 3ICaTBA®! BT TRI&T

Correct Answer :-

. %ducation for all children in school. / Tpd & Tt s=af & o e gwma=h fRrem &1 o



30) GAD stands for: / STl &7 3 8:

1. Genetic Anxiety Disease / &ﬂﬂﬁm ESIE (\;I'}Ilrc\id’) Q\SII%CnI %@\_ID

2. Genetic Anxiety Disorder / 3TIaRI® Ridl fd@R (SHfew Tomge! fewaiieR)

3. Generalized Anxiety Disorder / TG fidl fd@R (SFRAgSS Tosd! fewsiiey)
4, Generalized Anxiety Disease / W IEGIEW] (CERNIESS] USTsd] %@GD

Correct Answer :-

- Generalized Anxiety Disorder / TG fAdl fAdR (TRAZss Toge! fSwiisR)

Topic:- General Hindi (L1GH)

1) &R & wrorif fe emul

et 9T FEd AYIR F, AR TS U
3 3ifer agR & ufe &, 9@ T3 %y vgTu
I gf S St 391, SIRT-¥y UsTu|
S U TR IR &, W 7 staa |
3F 3T T B UTse, I9d 9 §d TRITI

o Tt Sfifa B MY, o SR Srifa geTUl
ST ERA 1 T G, Sl U1 7 e gangl
ST U F UgH A2 IR TH ard U= $T Sk ga1s¢|
TY: “SIed YUY T AT g1y 72

1. gH4-fhRd &

2. 579 Y BIg T

3. Y1 Slerat At

4. UQ fger ot

Correct Answer :-

. gHA-fthRa A

2) gft & wrerfifa ufe amy)

Ui 919 Fed AYHR &, TUER 9 |
T 3ifa Ige g9 Ul &Y, o % Y vl
¥ gfF o ot I, ST veTul



S U TR IR &, W 9 Stea |

3F 3 7T B UTSE, Iad 9 §d qRICI

o 0 Sfifa ®Y 3y, W 3R srifa geTUl

ST $RE @ TB YR, Sl Ul A S1fE gane|

ST UL $I UgH 1 YD W 9T URA BT IR Ja1s¢l
TH: '3 3ifa IgR g ufed St A T areqd g2

1. 3TH Y DIs gl

2. IR AN TH B B

3. IR HHI T TET 81|

4. TS NI A IR 5|

Correct Answer :-

- AITBAYS TR T

3) &R & Treriifa ufg sl

Ui 919 Fed AYHR &, TUER 9 Y|

T% 3ffd IgR g Ul &Y, 31 % WY ugral

¢ gfS SR S S, -3 veT|

St U G IR &, W Saq |

3q 3MU T B UTge, Teid 9 gd gRI|

A R oty B oy, & R FAIf goTUI

IS R 1 T G, S U1 7 S qane|

STIT U B UgH A I A Tt Y= $T SR gars|
WY: '3(F & U U1’ H M4t oy 3y Pt 3R Jbd B2 I 82
1. U Fifgd &1 3R

2. Rl o ufas efviy &t 3R

3. 7% & I H Ug 7T UY B 3R

4, Tt 3R 151

Correct Answer :-

. T & i H g YUY Bl 3R

4) &R & voifa ufg smu)
T 910 Fed AYH &, GUER 99 UTT|



3% 3f Ige ga ufee €1, 9 T WY verul

9t gfS oI St Y, - veTu|

St Y AT 3 &, W R Sad gl

3q 3 A BR UTsE, I 9 §a GRICI

o 0t Sfifa B 3y, W 3R i geTUl

ST $RA N T YR’ W U | A1fE qare|
ST UL $I UgH 1 TR W aTd URA BT IR Ja13¢l
UH: M & AR ST BT YH T g1 IR
1. &g ¢ BT urer B

2. TS 1 Y T 3R TS IR Bl 3Hfd 7 3 ¢
3. Uil & feTg faehrg |

4, JTSTEH &7 UTe B |

Correct Answer :-

o TSI GY A 3R TS R Pl 3 7 M S

5) &R ¢ wroifa ufg syl

Ui 919 Fgd AYHR &, TUER 99 Q|

T If g% g Ufed &, 9 T¥ T were

941 3G St S I, ST yeTu

S U TR IR &, W 7 Stea wml

3(q 3(U T B UIge, g9d 9 §d gRI¢I

o Tt SIfa B MY, S SR Srifa geTUl

IS ERY <t T G, S U1 7 w1 qane|

STd U F UgH A2 IR SH ard U= $T Sk ga1su|
TY: MU 7 fFads Areay | F7 B U= W Vol &1 vard fawan g2
1, Tt

2. dIgl

3.3&d

4, 3= iUl

Correct Answer :-



6) Bt & JeHifa ufe s

TS 910 Hgd AYH &, GHER 949 UTT|

3% Y TR g4 ufed &, 3@ TF U gl

¢t gfS o St S, -3 veTu|

ST YA AT IR &, TR Fa Staa g

3F 3 A B UTsE, I I §a GRICI

A I ot B 3mgH, o SR i gSTUl

I ¢RA A g8 R, S U1 7 SifE qa|

S Ui $I UgHR R YD WF ard U= BT IR Id15¢|
oy M 7 v a1 =gy | 5 wea a2 fame
1. I d Dl

2. §191 G I

3. 31 HIH &Y Bl

4, 3D TS TTRTH Bl

Correct Answer :-

. JHEIISd DI

7) &R & Teriifa ufg sl

et 9T FEd AYFR F, AR TS U

3% 3fd Ige ga ufee &1, I T Y veru|

I gfS o o @1, FT-Hed yoTu|

S U TR W &, W 7 stea 4|

3F 3 7 B UTSE, I 9 §d qRICI

o 0t SFfifa ®Y 3y, W 3R 3rifa geTUl

ST $RA @ Yg GR', Sl Ul A 1S Jare|

SUT Ui P UgHR 1Y YR oH T U= P Sk garg|
"Y: T A MU F fore SHT-JT UaTT’ HT T 7aad 8?2
1. YNGR fHofamn

2. SINH-fIAH B Bl gl

3. BUTAHTI & ST BT

4, TR §dRIT

Correct Answer :-



8) &R & Irsriifa ufg amul

TYEH 910 Hgd AYH &, GHER 99 UTT|
T 3ifd TER g0 Ul €Y, 99 T U vl
T¢I gfS S &I I, FT-HeH ysTu|
S U TN IR &, W 9 Stea )
3F 3T T B UIse, I9d 9 §d qRITI

o 0t Sfifa ®Y 3y, W 3R e geTUl
I ¢RY <t g8 "R, S U1 7 WAIfE Jag|
ST UL $I UgH 1 TS W aTdt YA BT IR Ja13¢l
WY: FOT A 3T gd B R Ul 32

1. IS aTdl A

2. G & forw

3. el HRATS & T

4, MO} T BTA-ATA ST

Correct Answer :-

« T &1 gTd-aTd S

9) &R & rerifal ufe 3ml

e aTd PEd AYPR B, FUER W QI

% 3 IR g ufed 81, 31F TE U g

I gfS S o S, FT-HeH veTu|

S WA AR SR &, W fRa Siaa 4wl

3(F 3 7T BR UTSe, I 9 §d qRICI

o Tt Sfifa B 3y, o SR Srifa geTUl

IS ERA <t T G, S U1 7 S1iE qane|

SWT UL P UgHR R IR H ard U= $T Sk ga1g|
UY: 39 UG & 3id H Ugad Xeg "Iifar A Hfa &1 7 ared @2
1. frifa s

2. Hiffag

3. HifeRfgd

4, g



Correct Answer :-

10) &R & rerifer afe emul

i 910 Fgd AYH &, GHER 99 UTT|

T If g% g ufed &, 9 T¥ T e
¢ g o oY S, SNT-Hew veru

S U TR IR &, W 3 stea 4|

3F 3T T B UTge, I9d 9 §d qRI¢I

o N rifa B 3myH, & SR e geul
ST O @ I R’ WA Ul | A1E qare|
STTE Ui P UgHR 1K IR oH ard U= P Sk gars|
UY: 39 UG W WY Vg 0 B’ &1 r 3 32
1. ToFToT 99 Tid Ga & |

2. ST 17 RR [B|AT 5

3. 1 7 R 8T | 5

4. T DI Hal SR AT

Correct Answer :-

. T D FHal SR AT

11) &R & Arsrifer afe emel

Ui 919 Fed HYHR &, TUER 9 Y|
3 3if IR §a ufee &), o T 94 Tl
w¢1 3fF St S I, SR veTu

S WA TR SR &, W fFa Siaa 4wl

3F 3 7T BR UTSE, I 9 §d qRICI

A Tt 3 Y oy, & o orFfifa geTu
IS TRA A T G, S U1 7 1 qane|
ST U P UgHR R IR TH aTd U= $T Sk a1s¢|
TH: $9 UG H IR-9R R fPue! w81 Ta1 72
1. Ra &t

2. ST Sit 1



3. fawy &t
4, PO DI

Correct Answer :-

12) &R & reriife afe ema

Yl 919 Hod AYHY &, JHER 949 UTT|

3 3 IR g4 ufee €Y, o T 9y el

41 3fF St S I, SR yeT

S WA TR SR &, W fRa Siaa 4|

3F 3 A BR UTSE, I J §d qRICI

o 0t SFfifa B 3y, o SR Srifa geTUl

IS ERA 1t T G, Sl U1 7 SIS Jargl

SWH Ui $I UgHR R TP WA ard U BT IR Ja1s¢l
UY: 39 HiadT & "AYDHY’ g fhad fIe ygad gan g2
1. 1R 3R M gRT Iga & forg; 31 81 91 &

2. P DI IRRA & ferg

3. ad HR & faw

4. ae MG gRT Igd & e

Correct Answer :-

- HIR IR MU gRIS&d & frg; 1 81 48l &
13) &R & rorife afe emul

Yl 919 Hd AYHI &, JUER 99 UTT|

3% Afd IR ga ufed &, 9E T UY ugTu|

I gf S St 391, FRT-eH ysTu |

S U G IR &, W Staa w4

3F 37 T B UIge, Iad 9 §d RN

N 3rfifa B 3myH, & SR erifa geu

ST $RA N TR R, WA Ul | A1E qare|

Ied U Bl UgH R YD WF ard U= BT IR Id13¢|
wy: fore ama A Mt 3t fave1 & &t o1 @ fHar



1. HI1-fOdT o1 faRTy

2. 3Gd BT T 3R I R 101 &t
3. HWT 9 faanT

4, QT faviy

Correct Answer :-

« I5d BT MMTHA 3R 79 WR g0 & Hig

14) &R & rerifer afe emul

TS 910 Hgd AYH &, GHER 99 UIT|

$% fd IgR gd Ufed oY, 319 T® I UgrYl

T¢I gf S St 39, FRT-1eH ysTu |

Ut WA AT IR &, TR Fa Staa g

3q 3R 7 BR UTse, I 9 §a GRICI

A I St Y 3mgH, o SR i goTUl

ST $RA @ TR R, WA U | A1fE qare|

ST Ui $I UgH - TR WA aTd URA BT Ik Ja1sCl
uy: R A W 7 S fHawt Mt & o A fear?
1. IR BI

2. a1 &l

3. 3R DI

4, 3Gd Bl

Correct Answer :-

. 3Gd D

15) UFSd W1 &t SR T W % T wugt ® 781 amar i S8 ok 38 wrd & oy wrawn 3 ot vad
2 39 B3 ardt afreg Nf o1, o R A9 1 g et Siran 3 3R =i ura: et wer gey foran
FYd § MY S8 wrf 3 W B Fgd § Tl TH-HH ureht Wt § ok ST gu, TRaH, Ot G fosar smar
21 T U g 8, 39 Wi gafy T vet f o 39 | fAre-ufa &1 gumeR foran wmar 8, 39 avs -
WY gU-ARa g97a1 1 o1 $B &, B 3ra I fore &1 ey w7 foran 1 #% 9ra ugd U IR e s
T A g3 T 3 He o1 B 99 A7 39 W TP 7 9% AuAT 31 foram; afe g 3ud frem 7 o
TIIT 8 7 ATI Id B T A Ugd gvel 33T Traar-aa1 g forem arae #1E ara ot g gs fren %
I $Td 361, Ye-g14 a1, W v, faae-a=1 avman, go- foan, gomart & firen, &) arsa aras T,
e dlemy Mo faar SR a1 TR ugR R o1, H1 o1+, fise e b, fir faae aman ik o
qiaA =T 74T; died) B e fBar iR 1 ¥eT1 g8 Ie Rore T g3t 3T 7 @vrar 4T 39fie 39 38 W
T Nt & Bt SR mHE-Td forae? IQ T Fa1 o9 A 98 S8 Gud g3, 99 A G- B
feare fore ois faar ok 4idt & Hus! &1 feume uftsars= & o s1a fean



AP 3 A by 38 ARG IIRTY B ITT &, SHBT RN BRI g2 A4 71 § o 3990 g gaat &, 3R IRy
gard 1Y 3 ST &1 SR od & fbR yarar] 1 T AR, R Mool & He i gy S§ e
SR BT § | 3 =i =mfear: =i | o/ 9 6 sneea arare; ok Jaidare #t 98t ot o w1 E|
gragare 1 3 g ® fob Wt vy sReR g1 @t & oA qraard) fag | o 39 fawy & o §, St
U=, AR Rseaei 3R mard SywTre I q@+T aredl § & 99 799 $9 RIaR g 96d 82
AR} Tseae gt &1 B TT 7 B, WR I o a9 mard IR U & qur 9ad ¢, Y g8 Fa
TIaIe? SHST Udad al T8t g1 IHdT g fb a1 & a0 U YR $% 1 98 faRTe 0 uRur a2 9|

ITYe TR B TSP 19 IR T U= $T I« 9a13¢|
TY: A b1 guiid fpd WR foran siman 82

1. S|

2. fordit o =7t

3.8

4, I WR

Correct Answer :-

. A H

16) UfSa HR-TH Tt ST T AW 7 $o Tumr F AL 3man fr 3§ ok 38 wid A wn wrawn 38 @t wyd
& 39 B3t ardl afreg N o1, o W A9 1 g foran iran g SR <y weft aer gew foran
Hd & 3T 38 il I W B Fea € el TA-AH urelt Wit § SR 3P g, URaH, ot G frar srar
21 U AT B §, 38 Wt iy A ust fh SR S 7 frer-ufa @1 gwmeER fora star @, S9 awe -
Wi gU-ARa I1a1 81 S 9 g, A 3@ 33 fRrem &1 gy o R 81 #% 91d Ugd Us IR TP (WS
T 3 g T S He F 8t 99 79 I R TP 7 9% SuHT g1 foran; Afe g 39w fera Y o
a1 & 7 Y71 I B W & T8 902l do1 Wuar-an g | fRrew aae o918 a1 ot g a8 foraen %
WTa:STd 381, He-g1y o, | foman, faae-a=e awman, yorA faran, a9 fren, &8 arga e T,
e diemy Wier foan ofiR AT FR ugR R 3o, T o1+, fise e i, fie foae avman ik o
SR I T4T; died? b WieH fBar ok Y a1l g T9 feramT g3t 3resT 7 &rar YTl 39fore 39 S8 W
A9 o & Fust 3R AT forRgd? I8 [T Fa1l o | a8 8 I9Tw g8, 99 ¥ Wd-3mHe B
feare foram Bis four sk it & pus| &1 R uftsaga & ot s1a faa

AP 3@ A fibe 8 R RTY HR TET §, THBT FT HROT 82 A A1 ¢ fF 399 3y geet 8, 3N IRy
uerd BTY 311 ST & | $AE 3@ # fh WTar| &1 419 e, 3R TorrSlt & w2 geres S8 e
SR HT §1 3 =i =fe: i | & A % sierea wraTe ik wafdare ot 98t wat g W §|
grare o1 3 g § fb Wt v SRR g1t & SroA arwrard fag @ o 39 fawy & e 8, St
UG, 3 Rxedel iR Smard fusmel ¥ Y@+ agdr § & 99 009 $9 IR 8l IJad 82
ST ARgdael I &HT B AT 7 B, WR 9P o diF mard W U & 991 994 8, B g8 &
ARYATE? THPT IS df 981 g1 TPl 3 {6 1 & 90 = YR HR P 98 faRTe U YROT 32 |

ITYe TR B UgH 19 IR T U= $T I« Ia13¢|
TY: STRI BT IuANT fovd sl & forg g9 a2

1. Had didl & HUS| Bl

2. Had SHHE-Td B

3. ol o 9 Pl

4, 9l & HUST BT 3R G-I Gl BT

Correct Answer :-



o st P HUSI BT 3R AHSA-TT GIHI BT

17) UfEd AR Ft STt 71 AW 6 $o Tuy # T8 omar fp 38 ok 3§ wrd # oy wrawn 38 ot wwd
2 39 B3 Trdt afvreg Of #1, o W AW 1 g e Siran 8 3R i ura: et wer gey foran
P g IR S8 Bl 3T R $t Fgd § T8l TH-UH UTelt W1l § 3R I9APT g4, A, W dur fosar siman
21 T U gt 8, 39 Wit gafey A vet fr o 39 ® fRre-ufa &1 gumeR forar wimar 8, 39 avE -
wfa gU-aRa ga1 31 S $9 71, A o S foram &1 g o7 foren 81 € et vRdl U R U e
I 3 g TP S8 Ye Ft f 99 A 39 W T A a9 S0 71 foran; AfF gt 9 R B o
I 8 7 4TI 9 B1 99 A Ugd gvel 98T Traar-F1 g forew args 318 ara ff g 98 foren %
I $Td 36T, Ye-g1d a1, W v, faae-a=1 avman, go- fosan, aormart & firen, 2 |rga ara= T,
iz dlew Mo frar SR a1 FR ugR f6R a1, H1 BT, fse e faan, fir faee avman ik s
qia= 9T T4T; died) B HieH B iR 41 X871 98 99 foren g3t 3resT 71 @vrar 4T 39fie 99 S8 W
A7 it F Fust R M-I Rrae? IV W fFa1 o9 A 98 S J0TW g8, 99 A G- o1
fRame fore ois faar ok ol & Hus! &1 fewma uftsars= & o st fean

AP 3@ | b 3§ R SRTY H QT §, TS FT SR 32 A JAT 3 5 3997 3mg 9t 8, 3 ary
mﬁauanaﬁ%wﬁrqawﬁﬁmwmméw 3R TorIST & | Wi geree S§ e
IR BT §1 S Sy: Tfy: S | o <77 o Sfeiord reaTe 3R wafdare @t 9t Tl g @1
grgare $1 3 g8 ¢ for Tl agsy RreR 81 A A e wrard fage @ o 39 fawa & et €, -t
Ui, A Reggael 3R Smard SfywTrel & YT @redl § f& 99 799 $8 W g 994 82
AR} Tsea gt W1 B a1 7 B, WR 396 o o9 mard &R U § 901 96d 8, e g5 Fa
[IaTg? SUST Adad df 98l 8 GodT ¢ % a1 & aTH- U YR HX I 98 faRTe =T YR HR A |

ST T B UG 1 UD T U= HT Ik qa1s¢|

7Y: ST e W I foaq wdA ae aruen gt fera?
1.Tb

2.3

3. 9%

4. dR

Correct Answer :-

18) UfST T Ft ST: w1 AW % Fo© Twer § A1 iman fr 3§ ok 38 wid & war W= S8 @t dgd
g 33 B ardt afvreg Nf o1, o R A9 1 g @ Siran 8 3R =iy et ver gey foran
B g IR S8 B 3T WM $t Fgd § 8! TH-UH UTelt Sl § 3R IAPT g, A, W dur famar siman
21 T U et 8, 39 Wi gafee A vet fr o 38 # fRre-ufa &1 gumeR forar wmar 8, 39 avE -
wf gU-IRa a1a1 31 S T 71, A o S¥ foram &1 g o7 foren 81 € w9t vRdl U R U @
T A g3 T & He B A a9 A 39 W ve udA 9@ v g foram; A g9 o9 Rram 9t p
1 & 7 U1 9 B A1 A Ugd gvel 387 Wradr-n g Rrew e+ ara W 8 a8 e @
I HTd 367, Ye-g14 a1, Wi foba, foaas-a=1 avman, go- fosan, gorari & firer, +¢f arsa ara= T,
iR demy We forar ok a1 R ugR f6R o1, w1 a1+, fise e faran, fibr faae aman ik s
qTaA =T 74T; died? B HieH B ik 1 ¥8T1 g8 Ie Rore T g3t 33T 7 @vrar 4T 39fie 39 38 W
T it & Bt SR HEI-Td fora®? 39 TRT a1 o9 d 98 S8 G g3, 99 A G-t B
T fore ois faar ok 4t & Fusi &1 feume uftsas= & o s1a fean

AP 3@ | e 3 =T AR™ BT 3T §, SHST FT SR 22 A7 FAT ¢ 1P 309 g Teet ], 3l IRy
uerd B1Y 3 9Td &1 $AFIY 3@ A fib WTa &1 A1 A9, 3R ISt & |rae 2 gores 39 feramn
SR HaT §1 3 wf: wnf: wnfe: | & A % seiera wraaTe ik wHf¥are &t €t waf g W |
arEare &1 oY 98 g 1 9t agsy avreR 861 @) F srve wrard! fag 3 <t 59 v & oAt €, S9-oht



UG, A R-gedelt SR M Fiuae! A YSHT 9rgdl § b 99 A7 $d R gl Thd 82
AR HEas G & Y A1 7 B, IR 3P 9 o Smard &R U # wH 9Pa §, bR 7§ P
TIqIE? SHST Udad al T8t g1 FHhdT g fob a1 & a1 ©U YR $% 1 98 faRTe 0 uRur a2 9|

IUYe TR B UgH 19 IR 7T U= $T I« 9a13¢|

TY: IHTd Hic™, STRY fora= & T Tt 3R fova= uard 819 oima 82
1. I-3{c]

2. Hicd-gaTeH

3. 31, ARI

4, Y--419
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19) UfEd UM Tt ST 71 AW 6 $o Tuy # g1 omar b 3§ ik 8 wrd & ur wrawn 30 ot vwd
& 99 DIt ATt Afvreg Uit 3t foRT W A1 &1 gar foram Simen & $fR oY wr: |eft geT g foran
B4 © 3R 38 Brf 39 WM B Bed € sel MI-NF urelt Wit € SR 3T gy, AaE, Y AU fbar srar
21 U9 U g §, 39 Wt i A vet f SR 3% 7 fFrer-ufa @1 qwmER foran star @, S9 awe -
Wi gU-ARE S1a1 81 Wl 9 g, A 3 33 R &1 gy o foran 81 #% 9Ia Ugd U IR S (WD
e = g3 T St He ot At 99 37 39 W TP 71 9@ AuAT 3T fora; afed g sud forew 7 oo
I 81 7 4TI 9 B G A Ugd gvel 93T Thaar-F1 g forew aras <18 ara ot g2 98 foren %
I PTd 3T, Ye-g1d &ar, W foban, fads-a-1 awman, go- fovan, gormrt & firen, +¢€Y arsa ata= T,
b diewr Wi far iR wiar1 FR ugr fibr Sot, v o, e w faran, five e avman ok @t
S I TT; died? e WieH fBar 3k I Te11 g I9 foramT g3t 3resT 7 aTar YTl 39foe 39 S8 W
A it F Bust SR AT fora®y I/ T FHa1 o A 98 S T g5, 99 ¥ |-G B
feame fore= o1 fear ik et & Hus! 1 fFare uftsarsa & o s1a faam|

AP 3@ | b S a1 SRR H QT §, TS FT SR 32 A JAT 8 75 397 3y et 8, 3 ary
m&auanﬁﬁ%lsvﬁrqaaﬁﬁwmﬁﬂmwam 3R TrrST & A 2 g S§ e
SR HET 1 3 Siy: iy i | 7 7 b SHTopdt ARaTe ok gafdare &t 9t aaf g7 @1 §
grgare 1 3 g ¢ fob Taft agsy wRreR @1 &Y 7 3= wrard gl @ i 59 fawa & e €, S9-ot
Ui, S Reggael 3R Smard SfywTrel ¥ YT @redl § & 99 799 $8 W g 99 22
AR RS gt &1 B AT 7 B, WR I o o9 mard A U & aur 9ad 8, e g8
ARYATE? THST Udad o) 981 g1 TPl 3 {6 a1 & 90 & YR HR P 98 faRTe U YR a2 |

SUY TRIRT B USHR 19 IR T U= $T I« 9a13¢|

WY: IHId A, fha- 3mard 39 Ue § 991 a%d A2
1. 919

2. Uh

3.3l

4. dH

Correct Answer :-



20) UfSa AR Bt ST 1 A {6 o Tue # 781 oimar fr S8 ok S8 wrd | i wwawn St a1 wed
& 39 St ard) afdree Wit #), R W A3 &1 geir= fora it @ iR it ura: 99t wer gow feran
FXd § MR S8 B 3 W B Fd § Tl TH-HY urelt St § SR SAPT gy, TRaH, U1 R fosar simar
21 U1 ATqH gar 8, 39 v zafie A vst % 99 3§ 7 freufa &1 aumeR Rrar wmar 8, 39 @w_E -
Afa gU-IFa §a1 31 S $9 81, A7 o S8 foram &1 g o7 foran 31 #€ 919 vgd TP IR U [RAd
qa A g3 T 33 He ot B 99 37 39 W TP 7 9@ v 3T fora; afes g Sud forem 7 oo
TeraT € 7 471 Id B A F g 90ef 3371 Fraar-an | forem wae +1E ara ot g a8 e 6
T ®Td 33T, Yg-814 &, |1+ o, faas-awe=1 avman, o= b, awmm 3 fren, +¢) wrgd areq mm;
i diedr Yie far iR wiaT1 R ugR fir o1, Wi o, iR ar faran, fisr e avman ok @ut
SR T T4T; died? e WieH fFar 3k Y TeT1 g I9 foramT g3t 3resT 7 Tar uT1 39fore 39 S8 W
A et & Bust R SmHE-Td RRa®? 3/ RT fFHan o9 A 95 S T g3, 99 A WG B
feame fore ois faar ok aidt & wusi &1 fgume ufvsas= & o s1a e

AP 3@ A e S G RTY FR TET §, TABT T BRI g2 B 71 @ 5 599 Mg gedl g, iR IRy
gard Y 3 ST &1 S od & fpR yarar] 1 T AR, R Torron & He M gorne S§ e
R el §1 3 MI: JIRY: WORY: | 1 T b SMoIpet ARATE SR GHidaTe 95 93t Tt 9 TeT §
grare @1 3 g § fob Wt vy SRR g1 @ # Srue arwardl fag | o 39 fawg & o §, St
Ui, 3mard seavil 3NX et Mybreeh ¥ TS Gedl § P 99 A9 $A R 8 IHd &2
AR} Tseael g &1 B a1 7 B, WR 39 o o9 mard AR U & gur 9ad g, Y g8 S
ARATE? 3UPT s o) 981 81 TSl & {6 a1 & 90 = YR HR 1 98 favTe 0 4Ror a2 o1

ITYR TR B UG ) I T U= $T Ik Ta1su|
WY ST TR A1 U tRA B AiaA a2

1. 91 B =Y

2. AEA H1 Y

3. fb g BT =Y

4, YDBRI BT EY

Correct Answer :-

o dHIDIEY

21) UfEa AR Ft ST T A 6 $o wuy A 8 omar i S8 o 8wt & wn wrawn 3§ @ wed
¢ 39 DI Arel wfvres Uit Y, e W A9 &1 e foran sran @ o St ura: | wer gy R
P & IR S B W WM B Fgd & o6l TA-HY UTelt STl § 3R SAPT gY, HaEH, Ut R foar simar
21 U1 AT Bl 8, S8 Wit i A vet fh S 3% A frer-ufa @1 qwmR fora star @, S9 awe -
A gU-HeRa g=1a1 81 o) $O 8, A 3@ 3 fore &1 g w7 o 81 o€ 91 ted U IR U g
e A g T S He F At 99 7 39 R UP 7 9% ST g1 foran; Afe g S9w fera Y
a1 8 7 471 Id B A F g get do71 Fraar-aan | foreq aae #1E ara ot g8 a8 e 6
WTa:STd 381, Ye-g1y o, | faran, faas-a=e= awman, g faran, gt 9 fren, w8 arga e T,
fipe dlewr HieH farar ok Tl R ueR fibr 31, W1 B, R | 5, e faae avman o s
S T T4T; died? e WieH fBar ok Y TeT1 g I9 foramT g3t 3resT 7 Tar YTl 39foe 39 S8 W
A7 o & PUST 3R AMGHHI-TE fora®Y 34 [ Harl oe & 98 8 I0T g8, a9 ¥ We-3THG! Bl
feame fora Bis faan 3R ¢t & Fus| &1 feure ufvsarsa & ot s1a fean)

AP 3@ A fire 38 RoramT IRTY FR @1 §, 3BT T RO 2 A F71 ¢ 75 39 31g Feelt 7, ik Ay
e g7 3 W1 §1 ST ord & fhR araT] 1 T Ay, R ToRSh & A M gprey S fera
SR HT §1 3 =mf: =fe: wfw: | o A % snerea wraTe ik wafdare &t 98t wat g W |
gregare $1 3 g g for Tl agsy R @1 Y 7 s arard fagl @ i 59 fawa & e €, -4t
TuiiF=g, ARt TRseaett iR At Siuwrel ¥ TS IEdT § 5 99 779 $9 W g THd 72
STl REeTell G &1 B AT 9 B, WR 3P o9 diF mard W 9 & 01 994 €, B a8 &
ARYATE? THPT IS df 981 81 TPl 3 {6 a1 & 90 T YR HR P a8 faRTe FU YROT 32 |



IUYT TR I YD A1 Y 7T Y= T IR ga13¢|
Y GfEd Wi & SRt § forem & fore s ard et <fie
1. 9gd SaTeT

2. 9gd 9
3. UIgt §gd

4, 9O T8l

Correct Answer :-

- PO

22) UfEa A &t STat: Fr A 5 o aug A 7L orar fo 3§ o S8 e A i i S8 ot wed
2 59 Bt ard) afvreg Ui 31, oy W A1 &1 g foran Simen @ iR oY v weft weT g foran
FYd § MY S8 wif I W B Fd § T8l TH-HH ureht Wt § ok ST g, ARaH, O G fosar simar
21 T U e 8, 39 Wi gafee A vet fr o 3§ | fAe-ufa &1 gumeR foran smar 8, 99 avs -
ofa gU-IeE §9a1 81 S $9 &1, A7 3@ S8 foram &1 g o7 foram 81 #€ 919 Ugd TP IR U [RAd
a1 g3 T 3 He ot f 99 37 39 W T 7 9@ AuAT 7T fora; afe g sud foreq 7 oo
TIIaT 8 7 UTI Id B T A Ugd gvel 33T Wraar-aar g fores arae 91 ara ot g us e %
I HTd 361, Ye-814 a1, Wi o, foae-a=1 avman, gu- fosan, gomari & firen, +¢f arsa ara= T,
i diewr Wie f5ar iR wiaT| R ugR fihR Jot, W1 B, fihr ar faran, fisr e avman o @t
A =T T4T; died) R e fBar 3R W1 ¥8T1 g8 Ie fore T g3 33T 7 avrar 4T 39fie 39 38 W
T Ot & Bt SR HEI-Td fora®dy 39 T fFHa1l o9 d 98 S8 g g3, 99 A Wd-eHHt &1
feame fore ois faar ok 4l & wus! o1 fgume uftsass & o s1a e

AP 3@ | fpe 3§ fRoRaAT SRR F I|T §, THST FT HRUI 32 A JAT 2 T 399 oMy daet 7, 3 Ay
uerd BTY 3 9Td &1 $ARIY 3@ # fhY WRTaT 1 A A9, 3R TSl & | =i georee 39 e
SR HdT §1 3 wmf: wfe: wnfe: | @ 9w % srerea wrare ik waf¥areg &t 9t waf g W §|
arare &1 oY g8 g 1 9t agsr avmew 861 @) F srue wrard! fagry @ ot 59 v & omand €, -t
Ui, mard AXseaeh iR At Sus=reh ¥ TS agd § & 99 A7 9 R & Jhd 32
T Rseael G &I HY AT 9 HY, AR 39 9 a9 3l W e § qa1 9oq €, B a8 S
ATIE? SHST Hddd dl Tot 81 AdhdT ¢ foh a1 & aTHT ©U YR X P 98 faRTe U yRUT R 9|

IR TR B UG 1 ID T U= HT Ik Ta1su|
TY: WIS {1 &1 arel o1 =i g+t

1. GHISIATG TR I¥aTG

2. W H A PIg TR

3. HiiaTg 3R Tieftarg

4, rgaTe SR JHBaTE

Correct Answer :-

. grare 3R gHidare

23) UfEa TR Ft STt 71 A 6 $o aus & 7L siman fh 38 3k S8 wid # 7 wraewn 3§ o wed
¥ 39 DI wrd) ufiteg Ui Y, Ry W A0 BT gar=d Rorar Sirar € 3R i ura: 9 7o yoy Riar
FXd & IR S BIf 39 RIF $I Fgd & o6l TA-HE UTelt STl § 3R SAPT gY, HaE, 9t R foar simar
21 U AT B §, 38 Wit i A vet fh S 38 # frer-ufa @1 qwmR fora star @, S9 awe -



Hid gU-ARa-T 91a1 31 o1 9 g1, 8 3@ 8 Rrwa &1 Fiyg o3 e 81 &2 919 Ugd U@ IR T (WD
e A g T S He F At 99 7 39 R UP 7 9% SuHn g1 foran; Afe g S9w fera Y
TgraT 8 7 4T 39 B A F g gvet o1 Fraar-aan | forem aae #1E ara oft g a8 e 6
WTa:STd 381, Ye-g14 uvan, | fawan, faas-a=e awman, g faan, et 9 fren, 8 arga e T,
fipe dlewr HieH farar ok Tl ¥ ugR fibr 381, W71 B, fR | 6, fhr faae avman e s
S T T4T; died? e Wie fBar 3k Y TeT1 g I9 foramT g3t 3resT 7 Tar o1l 39fore 39 S8 W
A o & PUST 3R MEHHI-TE fora®Y 34 [ fHar1l od & 98 8 I7T g8, a9 & Te-3THG Bl
feame feraem Bis e SR <t & wus| &1 feare ufvsars & ot s1a fean)

AP 3@ A fibe 38 R SRR F 8T §, TYBT FT BRI g2 A A7 ¢ fF 399 3y gedl 8, i IRy
mﬁauanmﬁélwmmﬁﬁwmmwam 3R oS & WA W goTew S o
SR™ AT § | S ZI: 2F: 3: | 7 71 T aieiorer araTe ok awidare ot 9t aaf 9= v
grare 1 3 g ® fob Wt vy SRR g1 @t & SroA ararard fag | o) 39 favy & o §, S
FrquITg, e TEgash 3R e Mueeh F qS1 AedT § [ 99 979 $Y 9T 8 b 82
AR} seae g &1 B AT T B, WR 39 o o9 mard IR U & aur 9ad 8, e g8 s
ARYATE? TUPT IS ol 981 81 GHdT 3 {6 a1 & 90 = YR HR P 98 favTe U YRoT 62 |

ITYe TRIR B UgH 19 IR T U=H $T I« Ia13¢|
TY: HISITH T AT B T Sra I o &2

1. Sidd

2. HYT

3.9G

4, YU

Correct Answer :-

o PY[

24) UfEa AR Ft SRR 1 AW 6 $o wuy A 78 omar i S8 o S8 vt & s wrawn S @ wed
2 39 B a1} aftreg tif 31, foRT W= A9 &1 g foram Siman 8 ok oY v \eft we g o
P ¢ IR S8 B 39 RIF $t Fed § T8l TH-UH Urelt et § 3R I9APT g, A, W R fasar siman
21 1 WA B 2, S8 v sufne A vet b 9 38 A ey o1 SR Riar w2, 39 @i -
Wi gU-ARa= §1a1 1 Ol 9 8, A 3@ 33 Rrem &1 gy o= R 81 #% 91a Ugd Us IR TS WD
a7 G T S8t We Bt A1 99 AT IH W TS WEH a9 (U BT foran; @i g9t s9d forem @t oo
ggraT € 7 471 379 B T F U8 get o7 Fraar-aan R forem aae #1E ara ot g8 a8 e 6
UTd:STe 381, He-g14 o, | fawan, foas- e awman, yore faran, et 9 fren, w8 arga e T,
fipe dem e forar SR a1 FR ugR R o1, H1 BT, fibe | o, fir faae avman ik s
S =TT TT; died? e Wie fBar ok Y TeT1 g T9 foramT g3t 3resT 7 rar YTl 39fore 39 S8 W
A9 et F Pust R AHE-Td fora®? Iq T FaT o9 A 98 S8 JUd g5, 99 ¥ -3 B
feare fore ois A ok ol & Hus! &1 feume uftsars= & o s1a fean

AP o A fibe 38 RoramT RTY TR 37T §, 3BT T RO 2 A J71 8 75 397 31g gt 7, ik Ay
mzfauanﬁﬁ%lsﬂﬁrqa{aﬁﬁwmﬁﬁmméw 3R oS & AEA W g S o
IR el §1 3T Iy: JY: R | T A b oip e AraTE 3R Gufdare o8 9 w4t 9 @ §
gregare $1 3 g ¢ for Tl agsy R g1 Y A srum arard) fagl @ i 59 fawa & e €, S9-ot
Ui, A Reggaei 3R Smard Sywrrel & Y@AT @redl § & 99 799 $9 W g 99d 82
mwwwﬁmqﬁ,wﬁaﬁmﬂmﬁ%ﬁaﬁwmiﬁwwm
ARYATE? TUPT HAAd df 981 g1 GHdT g {6 a1 & 90 = YR HR P a8 faRTe U YR A |

ITYE TRIRT B USHR 19 IR T U= $T I« 9a13¢|
UY: A &I fpa- SRt Ye ot



1. qoHE A

2. WPR A

3. QXA a1l A

4. 944

Correct Answer :-

. Q&P a1 A

25) UfEd T &t STast: 7T A b o augr A AgY arar for 3§ o S8 i A war wrwn S8 @t wed
& 39 B Tt Aftreg Tif F1, Ry W AW BT gaiTa foram SiTan 8 ok Y wr: |t wer g foran
FYd § MR S8 wrf 39 W B Fd § Tl TH-HH urelt St § SR ISP gy, TRa, U G fosar sirar
21 U1 ATH gan 8, 39 v gafie A ust % 99 3§ 7 freufa &1 gumaR Rrar wrar 8, 39 @w_E -
Wi gYU-ARE I7a1 81 S 9 g, A9 3@ 3 fRrem &1 gy o= R 81 #% 91d Ugd Ue IR TS W
Tra A g3 T 3 He o1 B 99 37 39 W T 7 9% v 7T fora; afe g sud forem 7 oo
TeraT € 7 471 Id B A A g 9vet ST Fraar-an | forem aae #1E ara ot g a8 e 6
T ®Td 3oT, Yg-814 &1, |1 v, faas-awe=1 avman, o= 5, aemm 3 firen, +¢) wmgd areq mm;
e diem WMo faan SR a1 R ugR fhr a1, 1 ST+, fibw 3w i, fi foae aman ik o
SR I TT; diee? e WieH fBar 3k O Te11 g Oe foramT g3t 3res1 9 &Tar uT| 39fore 39 S8 W
A9 2 & Fust R AMeI-Td fora®? 38 W1 fHa1l o9 | 98 S8 I0Tw g8, a9 ¥ We-3mHe B
feme ferae Bis faan o et & wus) &1 feare ufvsars & o s1a fean)

AP 3@ A e S G SRTY FR TET §, TBT R BRI 82 B 1 @ 5 399 3mg sgdl 8, iR IRy
yard Y 3 ST &1 SR o & fbR YaraT| BT T AR, SR ToIron & HH M gorene S§ e
R el §1 3T MI: JERY: TORY: | 1 A b SNopet ARaTE SR GwfdaTe 95 9 74t 9 a1 §
grare &1 3 g ? 6 @it o sRier ) &t & Srom wrard) fag @ ot 3 vy & oAt €, S-oht
Ui, 3mard seasi Y e Mybrereht ¥ Yo Uredl § 5 99 A9 $ R & 95d &2
ST TEeaol T &1 DY T 7 HY, IR I7F o a9 it &Y U § Ju1 9o &, 7 a8 Fan
ARATG? 3T UdAd d) Tl 81 TPl & {6 a1 & 90 = YR HR P a8 favTe 0 4Ror a2

ITR TR B UGHR A ID T U= HT Ik Ta1s¢|

UY: US| HI feHTa-fHdra H31 &1 formr 3811 frae FuR s1a faam
1, Ufgara &

2. I &

3. %

4. G &

Correct Answer :-

. UfEara®

26) UfSd AR SRR T AT 6 po wuy A L omar i S8 o 8wt & wn wrawn S @ wed
& 39 B3t ardl afsreg N &1, ot W A9 &1 g foran iran g SR <y weft aer gey foran
Fd § IR S B IH WM $I F5d & 6l TA-HY UTelt STl § 3R SAPT gY, HaE, i R foar simar
21 U U g §, 38 Wt i A vet fh S 3% # frer-ufa @1 awmER fora star @, $9 awE -
Wi gYU-ARa S1aT 81 Sl 9 g, A 3@ 33 fRrem &1 gy o o 81 #% 91d Ugd Us IR S (WD
q1a = g3 T S He ot B 99 37 39 W TP 7 9% AU 3T fora; afes g sud forew 7 o
TEIaT € 7 4TI Ad B WA A Ugd "vel 967 Hraa-an g | forew arae @18 ara oft 8 g foreen %



UTd: Tl 3T, Yg-8T¥ U1, WA o, faae-awa=1 @, Yo fobar, aemm=i | fae, 81 Jrgd diaq T,
e diem Wie forar ok A1 SR ugR fhr a1, v o1+, fiee e o, fir faae aman ik s
SR T TT; died? e WieH fBar Sk O TeT1 ug O9 foramT g3t 3res1 7 &rar uT| 39fore 39 S8 w
A Nt & Bust iR mHE-Td g 3/ T fFHan o9 A 95 S8 GuE g3, 99 ¥ WH-mweH B
feme feram Bis e 8 et & wus| &1 feare ufvsars & ot s1a feani

AfBT 3@ A e S G SRTY R TET §, TABT T BRI g2 B 1 8 5 399 31y ggdl 8, iR IRy
uerd BTY 3T STd &1 $ARE 3@ A fhR WTar| &1 A9 A, 3R TSl & | 2 geree 39 feramn
SR HaT §1 3 wmf: wnf: wnfe: | & A % snerea wraTe ik waf¥are &t 9t waf g W |
grare &1 3 g 2 6 @it agw sRrer 81 At & srom wrard} fag @ ot 35 vy & oAt €, S-oht
UG, AR Rseaei 3R mard SywTre & q@+T aredl § & 99 799 $9 IR g 994 82
AR} seael g &1 B AT T B, WR I o o9 mard R U & qur 9ad ¢, e a8 s
TIaTe? SHST Udad al T8t g1 IHdT g fb a1 & a0 U YR 6% I a8 faRie 0 yRur 2 9|

ITYe TR B UgH 19 IR T U= $T Ik 9a13¢|
wY: S WId § 1 uTel! ST §2

1, MY-Ag

2. 9t

3. SHRAT

4, Pa-foet

Correct Answer :-

27) UfEa AR t st Fan A 6 po wue # 8 omar i S8 o 8wt & s ey 3§ @ wea
& 39 B3t ardl afreg Wi &1, o R A9 &1 gaTa et Siran g iR <y weft aer gey foran
FXd § IR S Bl 39 VI S Fgd & o6l TA-HE UTelt STl § 3R SAPT gY, HaE, i R fobar simar
21 T WregH B 2, 3% v sufie A et i S 38 A Py o1 R Rier | 2, 39 @ -
Wi gU-ARe I7a1 81 Sl 9 g1, A 3@ 33 Rrem &1 gy o R 81 #% 91d Ugd Ue IR 0P (WD
qra A g3 Th S He ot i 99 77 39 W TP 7 9% AuAT 3T o afes g sud forew 7 oo
a1 & 7 YT I B W & T 90e] do1 AEar-an g1 fRrew arae o1 a1 ot g a8 foramn %
WIa:STd 381, He-g14 o, | fwan, faas-a=e awman, yorA faran, gt @ fren, €Y arga e T,
i dite®R YieH far iR WiaT1 F R ugR fi Jo1, W o, iR wr faran, fisr foae avman ok ot
S T T diess e WieH fFar ok Y TeT1 g T9 feramT g3t 3resT 7 &rar uTl 39fore 39 S8 W
A9 2 & FUSt 3R e-Td forRg®? 3Q [T fFa1l o | 98 S8 90T g8, 99 ¥ Wd-3mHe B
feame fera= o1 fear ik et & wus) &1 fgwre uftsarsa & o s1a feam

dAfp 3@ | fe 38 e RT3 37T §, SUST FT HRUI 32 A JAT 2 5 399 oMy daet 7, i Il
uerd BTY 3T §Td & 1 ST 3@ & fbR WTar| &1 419 e, 3R TorrSlt & w2 geree 39 framn
SR HaT §1 3 =mf: =wfe: wfe: | o A % snerea wraTe ik wafdare &t 98t wat g W §|
arrare &1 3 g 3 6 @it agw svrer 81 At & srom wrard) fag @ ot g fawg & oAt €, S-oht
UG, 3t R=xeaeh MR Smard fuereh ¥ Y@+ agdr § & 99 009 $9 IR 8l o d 82
ST Rgdael I &HT HY A1 7 B, WR 3P o @9 mard W U & 991 994 8, B a8 &
ARATE? THPT IS df 981 g1 TPl 3 {6 1 & 90 = YR HR P 98 favTe U YRoT 32 |

ITYe TR B UgH 19 IR T U= &7 I« Ia13¢|

e 3511 ST # fora f wrare & srgaR Wit ugw fRafafaa 82
1. RIS

2. foT



3. @9
4,99

Correct Answer :-

28) UfSd AT Ft SRt FaT AT 6 po wuy A 7L amar i S8 o 8wt & wn wrawn S @ wea
& 39 I8 wrdl wfvreg Uit Y, e w A9 &1 eI foran siran @ o St ura: | wer gy R
PR § IR S B W WM $I F5d ¢ 6l TA-HY UTelt STl § 3R SAPT gY, HaEH, i daR fbar simar
21 U1 AT g §, 39 Wt i A vet fh S 3% A frer-ufa @1 qwmeR forar s @, 39 avE -
wfa gU-ueE 999a1 81 S $9 ), A7 orw 38 A &1 g o2 R 31 #€ 91 Usd 0P OR U AE
A g T S He F At 99 79 39 R TP 7 9% ST g1 foran; Afe g S9H fere ) o
I 8 7 ATI 9 B G A Ugd gvel 937 Taar-F1 g forew arae <18 ara Wt g 98 e %
T $Td 36T, Ya-g1d an, W foban, faas-a-1 avman, go- foran, gt | firen, Y arsa ata= T,
bz dtewr Wi far ik wiar1 FR R fibr Sot, v o, e e faran, fiee e avman ok @t
qia= 9T T4T; died) O HieH B iR A1 Y811 g8 99 fore 1 gt 3resT 71 arar 4Tl 39fie 39 S8 W
A it F PUst R AMHE-Td fora®? IQ T FaT o A 98 S8 T g5, 99 ¥ |- B
fRare fore Bis A ok ot & Hus! &1 feume uftsarga & o s1a fean

AP 3@ A fire 38 RoramT IRTY FR 38T §, 3BT T RO 32 A F71 8 15 39 Mg geedt 7, ik Al
mﬁauanﬁﬁ%lsvﬁrqamﬁﬁwmﬁﬁmmam 3R RIS & | 2T g S8 e
SR el §1 S SRY: SRY: 2Ry | 7 779 3 et wrqaTe ok wwidarg 3 9t oaf 97 wer 1
gregare $1 3 g g for Taft agsy RreR 1 At A A arard fagl @ i 59 fawa & e €, S9-oht
TuIiF=g, Smarf TRseaet R At fueEel ¥ TS IEdT § 5 99 779 9 W g T@d 32
Tl Eeae G &1 BY AT T Y, WR I o 19 Srard A 9 & 91 WP 3, v a5 d=
ARYATE? THPT IS o) 981 81 APl 3 b T & 90T T YR HR P 98 faRTe U YR 32 |

ITYE TR B UgH 19 IR T U= HT I« 9a13¢|

vy 3 {5 Jaa & 9A RR g STt fore=n 75 vd 32
1. R it

2. DTl Sff

3. O St

4. I Sit
Correct Answer :-

o AU S

29) UfEa TR #t STat: 7T A b o qumr A 7L omar for 3§ o S8 e A = g S8 o wed
2 3 B3 Trdt afvreg Nf o1, o W A9 1 gaTa @t Siran 8 3R =iy et aer gey foran
B g IR S8 B 3T WM $t Fgd § S8l TH-UH UTelt Sl § 3R I9APT Y, A, W dur fawar siman
21 T U BT 8, 39 Wi gafe A vet fr o 39 # Re-ufa &1 queR forar wimar @, 39 ave -
ufd gU-ARa-T 91a1 31 &l 99 81, A7 3@ 3§ frma &1 Fyg o forn 81 #3919 U U IR U [P
T A g3 T 8 He B A a9 A 39 W ve udA 9@ v g1 foram; A g9 o9 Rram 9t g
I 8t 71 U411 79 &1 99 A Ugd gvel 98T Traar-F1 g forewt aras 318 ara ff g 98 fore %
I $Td 367, Ye-814 ean, W foban, forae-a=1 avman, go- foan, gomari & firer, +¢€f arsa ara= T,
i dtewr Wi far iR wiaT1 R R fibR o1, v o, e ar faran, fier e avman ofi @
qiam =T 74T; died) B e fBar ik 1 ¥eT1 U8 I fore T g3t 33T 7 avrar 4Tl 39fie 39 38 W



T Nt & Bust R mHE-Td Rra®? IW T a1 o9 d 98 S8 guE g3, a9 F G-t &1
feame fore ois faar ok 4l & Husi &1 feume uftsas= & o s1a fean

AP 3@ | e 3 R AR™ X 3T §, THST FT SR 22 A7 FAT € 1P 309 g Teet ], 3k IRy
mﬁaumaﬁ%lwmmﬁﬁﬂmmﬂmmam aﬁ?wﬁmﬁﬂ%amﬁaﬂmwéﬁmm
IR el §1 3 : JRY: RN | 1 T b Toipet ARaTE 3R GwfdaTe 95 9 74t G T@T §
arare &1 oY 98 g 1 9t agsr avreR g1 @) F rue wrard! fagn @ it 59 v & omand €, S9-oht
FRQUIT, Smard Trsgash 3R mard fuerel | TS1 9redT § 1 99 979 $A T g b 82
Smar} seael g &1 B a1 T B, WR 39 o o9 mard R U & qur 9od g, e g8
IaTe? SHST Udad al T8t 81 IHhdT g fb a1 & ari U YR $% 71 98 faRTe 0 uRur a2 9|

IUY o T B UG -1 IS T U= BT Sk qa15¢|

TY: 3T STR) | 511 fp-fp! Aregarg o1 3mard |/
1. Had YyuiHig

2. Bad YD St

3. $ad W=ad

4, Iudad quft ot
Correct Answer :-

. S @it i

30) &R § Aerifa ufg syl

T 919 Fed HYB &, THTER §a UTY|

T 3ifd Y g ufed &, 39 % Uy ueTe |

9 g3 I S ST, ST TeTe|

Sl YA AR I F, W R Siera el

3 U {1 X UTSR, Terd 9 §9 YR

o Y rfifar ¥ ey, o SR it geTUl

ST 4R o g G, i} U 7 e wae|

STYe TR &1 Ugdh: 1 YD oM a1d U= $T S« 9a13¢|
TY: MIUAT 51X & T Ug A P 91 B 38T 82
1, Yo



Topic:- General English(L2GE)

1) Fillin the blank with the correct option in the given sentence:

When many people work together, they are said to --operate.
1. dis--
2. co--
3. de--

4, in--

Correct Answer :-

e CO--

2) Fillin the blank with the correct option in the given sentence:

I am too scared of poison-- snakes. What about you?

1. --ful
2. --ing
3. —-ed
4. --ous

Correct Answer :-

3) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.



"Our train at last! said Father, Now tumble in!
It's the last lap home!' And I wondered what 'lap’ could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

What were the gentlemen talking about?
1. weather

2. fashion

3. Cricket and news

4, music

Correct Answer :-

e Cricket and news

4) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

“Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

Where did they change trains?
1. at a level crossing

2. ata village

3. atastation

4. at an unscheduled stop

Correct Answer :-



® ata station

5) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,

The place where we changed - the dark trains lumbering through;
The refreshment-room, the crumbs and the slopped tea;

And the salt on my face, not of tears, not tears, but of the sea.

“Our train at last! said Father, 'Now tumbile in!
It's the last lap home!' And I wondered what 'lap’' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

When did the homeward journey begin?
1. midnight

2. noon

3. evening

4, morning

Correct Answer :-

® evening

6) Read the poem and answer the question given below:

I remember the long homeward ride, begun

By the light that slanted in from the level sun;

And on the far embankment, in sunny heat,

Our whole train's shadow traveling, dark and complete.

A farmer snored. Two loud gentlemen spoke
Of the cricket and news. The pink baby awoke
And gurgled awhile. Till slowly out of the day
The last light sank in glimmer and ashy-grey.

I remember it all; and dimly remember, too,
The place where we changed - the dark trains lumbering through;



The refreshment-room, the crumbs and the slopped tea;
And the salt on my face, not of tears, not tears, but of the sea.

“Our train at last! said Father, ‘Now tumble in!
It's the last lap home!' And I wondered what 'lap’' could mean;
But the rest is all lost, for a huge drowsiness crept

Like a yawn upon me; I leant against Mother and slept.

Which are the words in the poem indicate it was a hot day?
1. sunny heat

2. level sun

3. salt on my face

4. drowsiness crept

Correct Answer :-

® sunny heat

7) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.

With increase in population and better economic levels consumption has:
1. remains the same

2. decreased

3. not effected

4, increased

Correct Answer :-

e increased



8) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.

The supply of fresh water is under stress due to some factors.
Which one of the following is not such a factor?

1. Uncertain weather pattern

2. Every individual needs 1000 cubic metre of water

3. Increase need of water to grow bio fuels

4, Increase in income

Correct Answer :-

» Every individual needs 1000 cubic metre of water

9) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.



The passage talks of an increase in the requirement of water for direct use.
Which of the following is not a part of direct use?

1. Agriculture

2. Drinking

3. Cooking

4. Washing

Correct Answer :-

e Agriculture

10) Read the following passage and answer the question given below:

An important call to protect the world’s freshwater supplies has come from scientists,
government leaders, and civil society representatives who met recently in Stockholm for World
Water Week. As population and incomes grow, with concomitant consumption, there is a sharp
rise in the demand for water for direct use, and as an input for food production. Many countries
are also experiencing rising demand for water to grow biofuel crops. The global supply of
freshwater, which every individual needs at the rate of 1,000 cubic metres per year to meet
minimum drinking, hygiene, and subsistence requirements, is under strain. Unpredictable
monsoon patterns attributed to climate change are adding to the distress. The message to
governments is that they must respond urgently with practical schemes or face escalating
conflicts over water in the not-so-distant future. The priority must be to reduce water intensity in
farming, the biggest single user. Even a small but significant saving in irrigated agriculture can
deliver more water for people. That is clear from an International Water Management Institute
forecast: without improved farm productivity, including measures such as waterproofing of canal
surfaces, the volume of water lost due to evaporation annually could, by mid-century, be nearly
double the present level of 7,130 cubic kilometres.

The suggested response to the situation regarding the stress on the demand for water is:
1. Double the present levels of evaporation of 7130 cubic kilometres

2. Reduce water use in farming

3. Reduce farming

4, Increase canal surfaces

Correct Answer :-

» Reduce water use in farming

11) Choose the appropriate pronouns for the given sentence.



Being a singer 7 know how difficult it is to sing in front of a large audience.

1. myself, I
2. herself, she
3. yourself, |

4, himself, you

Correct Answer :-
« myself, |

12) Fill in the blank with the correct option in the given sentence:

Remona accepted the job without
1. hesitation

2. hesitate

3. hesitatively

4. hastily

Correct Answer :-
¢ hesitation

13) Which of the following options best combines the two given sentences?
This is my cousin. His name is Anil.

1. Anil is my cousin brother.

2. This is my cousin Anil.

3. This is my cousin brother Anil.

4. He is my cousin brother Anil.

Correct Answer :-

e This is my cousin Anil.

14) Choose appropriate articles for the given sentence:

BPOs remain __ popular choice for __ younger generation as they offer numerous job opportunities.

1. the, no article required



2. a, the
3. a, no article required

4, no article required, the

Correct Answer :-

e a,the

15) Choose the appropriate option that rewrites the following sentence in passive voice:

Ramu has not yet completed his project.

1. His project was not yet been completed by Ramu.
2. His project have not yet been completed by Ramu.
3. His project is not yet completed by him.

4. Ramu’s project has not yet been completed by him.

Correct Answer :-

» Ramu’s project has not yet been completed by him.

16) Choose the appropriate synonym for the highlighted word in the given sentence.

The news commentator had to yell to be heard above the hubbub.

1. bedlam

2. sports activity

3. stillness

4. argument
Correct Answer :-

e bedlam

17) Choose the appropriate tenses from the options given to fill in the blank in the sentence :

Jane never satisfied. She

1. will, will always complain
2. has been, always complained

3. has, shall always complain



4. is, is always complaining

Correct Answer :-

« is, is always complaining

18) Choose the appropriate antonym for the highlighted word in the given sentence.

He thought that he would be rewarded for his deeds in vain.
1. flattered

2. insulted

3. reprimanded

4, punished

Correct Answer :-

e punished

19) Choose the appropriate prepositions for the given sentence:

The doorbell isthecue __ theactresstorun______ stage.
1. over, for

2. of, into

3. for, on

4, for, along

Correct Answer :-

20) Choose an appropriate modal for the given sentence:

As the final submission is due tomorrow, I complete my assignment.

1. could
2. must
3. might

4. may

Correct Answer :-



21) Choose the option that best explains the highlighted expression:

When I turn up my toes, I want people to gather around me with lots of flowers.
1. become famous

2. die

3. play well

4. marry

Correct Answer :-
o die

22) Choose the option that best transforms the sentence into its Indirect form:

Mother said to her son, “"Have you done your home work?"”

1. Mother asked her son this if he had done his homework.
2. A mother said to her son if he had done his homework.
3. The mother asked her son if he had done his homework.

4. The mother asks her son if he could do his homework.

Correct Answer :-
e The mother asked her son if he had done his homework.

23) Choose the option that substitutes the given phrase appropriately.

A movement or action of the hands or face
1. Action

2. Gesture

3. Animation

4. Posture

Correct Answer :-

e Gesture



24) Read the sentence carefully and choose the option that has an error in it:

Driving across the bridge, the sailboat with its sails billowing in the wind was a beautiful sight to
see.

1. Driving across the bridge
2. was a beautiful sight to see.
3. billowing in the wind

4, the sailboat, with its sails

Correct Answer :-
» Driving across the bridge

25) Read the sentence carefully and choose the option that has an error in it:

The demand of the workers’ union that the dismissed employee to be reinstated has been
accepted by the management.

1. to be reinstated has been accepted
2. by the management.
3. The demand of the workers’ union

4. that the dismissed employee

Correct Answer :-
* to be reinstated has been accepted

26) Change the given statement to indirect speech.
Jack: “"New York is livelier than London.”

1. Jack remarks that New York is livelier than London.

2. Jack said that New York has been livelier than London.
3. Jack said that New York is livelier than London.

4, Jack said that New York was livelier than London.

Correct Answer :-

e Jack remarks that New York is livelier than London.

27) Fill in the blank with the correct option in the given sentence



You can see what | am doing you observe me carefully.
1. and

2. whereas

3.if

4. until

Correct Answer :-

28) Fill in the blank with the most appropriate preposition in the given sentence.
She loves to run her fingers my hair.

1. by

2. across

3. above

4. through

Correct Answer :-
 through

29) Choose the most appropriate determiner in the given sentence.

The innings were quite dull
1. third, second

2. two, third

3. second, three

4, three, second

Correct Answer :-

e second, three

30) Choose the right tag:

L)

You didn’t have to wait long,
1. did you

2. didn't you



3. had you

4. don't you

Correct Answer :-

« did you

Topic:- Social Science (S5C)

1) Who said that, “"The President occupies the same position as the King in the British
Constitution”. / f&¥A o1 U1 %, “fafewr Wiy & wyuf, e & Tw= R Y50 Ha1 31
1. S. Radhakrishnan / UH. X[YTH T

2. Dr. B.R. Ambedkar / ST, 91.3R. 3FISHT

3. Dr. Rajendra Prasad / 3T, ?T@FZ‘? Udlq

4. V. V. Giri /a4l faR

Correct Answer :-

« Dr. BR. Ambedkar/@';}[’. 3R, TS H

2) Who was the ruler of Gujarat when Mahmud attacked Somnath Temple? / SId HgHg =
THATY AR UR g BT YT, 39 U ORI BT ARS DI UT?

1. Bhim Dev / Y ¢4

2. Mula Raja / HdlT Sl
3. Siddha Raja / I XTSI
4. Kumar Pal /  HIR Ylc]

Correct Answer :-

« Bhim Dev /1@ g

3) Which of the following is the mausoleum of Muhammad Adil Shah of the Adil Shahi dynasty?

/ Frafafee & @ enfea Et 921 & qewe nfee =g T AP aRT B4 1 3?2
1. Gol Gumbaz / TTIdT T[FSSl

2. Juma Masjid / STTHT ARSIE

3. Taj Mahal / ATSTHEA

4. Qutub Minar / $dd HHR

Correct Answer :-



+ Gol Gumbaz /Th?fw

4) in the Constitution set forth the humanitarian social precepts that aim at social
revolution. / Jfaeu= & A AFgarard) arfere Suen & feifa frar Raer sexa
qrIfore wifa g1

1. Right to Equality / GHT BT H{YBR

2. Right to Equal Protection / THT TRE&UT &1 HfABR

3. Right to Education / fRI&T &7 3fAHR

4. Directive Principles of State Policy / IS & =i AR aa
Correct Answer :-

» Directive Principles of State Policy / I & Hifd e da

5) The test that predicts the performance of individual in a particular field is: / QWT tIﬂ&‘I'UT \_rﬁ

et foxiw & # =afed & we=i= &1 qafgae sxar @:
1. Diagnostic test / FaE Tteqor

2. Prognostic test /q,@‘fﬂﬂﬂ gRjaror

3. Achievement test / Ul TRI&0T

4. Teacher made test/ TRI&/% gIRT {1 TT TRT&0T

Correct Answer :-

 Prognostic test /CE'TEJ:I'F[ BRIl

6) Which among the following correctly represents the Honduran Emerald? / frafefea |

A B A IGIH THRTES B el aX8 4 uiar 82

1. A beach in Honduras / Eﬁw R gz dc

2. An endangered bird of Honduras / aw hT U JtTUg geit
3. An ore found in Honduras / _Eﬁ_g?"lﬂ T U S 9Tl Uoh 31a%h

4. An island in the Atlantic Ocean / 3cdifc® HSIFR H U&h g

Correct Answer :-

« An endangered bird of Honduras / Eﬁw hT Udh JtdUg geit

7) Pohang Iron and Steel Company is from which among the following countries? /

Fraffed # & g smava ts ©a su-t fea a8



1. South Korea / GI&0T HIRAT
2. North Korea / 3TR IR
3. China / EIC]

4, Japan / SITUTA

Correct Answer :-

« South Korea / GI&0T I

8) Hubbert peak theory is related to which of the following? / &3¢ R Rigia

Frufufea 9 3 foas d@dfta 32
1. Currency Trade / I UUR

2. Petroleum / a@m

3. Metabolism / ddUdY

4. Nuclear Energy / URHIU] ol

Correct Answer :-

« Petroleum / a_(j[%‘l'qq

9) Who is the administrative head of Prime Minister’s Office? / UUTHA] drafag &

TS U@ B 82

1. Prime Minister / T

2. Principal Secretary / YT Tirg

3. Cabinet / ARHEsd

4, Cabinet Secretary / AfRHsd gfg

Correct Answer :-

« Principal Secretary / U gfaa

10) A type of evaluation which is used to improve and monitor the progress of students and
teachers is: / TP YR &1 Yedih- g, ol D 3R gl 3t wifa § gur ik ARt
& fog fparsmar 31

1. Formative evaluation / Yd-TH®D Jj\c'tlido'-l

2. Norm-referenced evaluation / ATF® Teiid Hedid

3. Summative evaluation / INTIE® Jedidh



4. Criterion-referenced evaluation / ATFGS Uaiid H™ih

Correct Answer :-

« Formative evaluation / AT Hegidh

11) Mind is a ‘Tabula Rasa’. Who said this? / H TP ‘dqdT I’ (Tabula Rasa’)% g% feam
hel?

1. Immanuel Kant / HTJU] ®ic

2. Michel Foucault / TR W

3. Friedrich Nietzsche / Th&Rd A1
4. John Locke / 119 dld

Correct Answer :-

« John Locke /\_5|V'|7'f GVW

12) Before Ashoka became Mauryan king, which province did he serve as governor? /

MNP | AT g9 | UGl f5 T Wi o 99T & &9 § HR Hd A2
1. Taxila / A&

2. Vaisal / A58d

3. Pataliputra / GTCATA

4. Ujjain / IS0

Correct Answer :-

o Taxila/ ?‘T&‘m

13) The First Factory Act restricting the working hours of women and children was adopted

during whose time? / Afgarsit 3R I=Il & HTH & Hel &I ufaaiid - arar ugar
FREMET AfUaw fead gwg § =T T 417

1. Lord Ripon / dre ko=
2. Lord Lytton / qrs foreq
3. Lord Bentinck / QIS S

4. Lord Cornwallis / @IS DI e

Correct Answer :-

» Lord Ripon / dre Roa



14) The term Isostasy describes: / Y-Hda- g fH B ARSAT BT of
1. The state of disruption / fageq & fufa

2. The state of balance / IJa o1 fRufa

3. The state of uplift / ST 31 Ry

4. The state of subduction / FTHETT @ fRYfd

Correct Answer :-

« The state of balance / T &t fRufa

15) The song ‘Amar Sonar Bangla’ written during the Swadeshi Movement of India inspired
the liberation struggle of Bangladesh and was adopted as the National Anthem of

Bangladesh. Who wrote this song? / YR & WM sfigia+ %aﬂﬁﬁ@wmﬁ '3HY
R ST 3 SRA & TS & HaY $I 4Rd fHar 3R 8 aiveney & g 1= &
U UM 4T 98 i foraa forar 82

1. Michael Madusudan Dutt / HIgP I HYYaT ad
2. Mukund Das / §$& G

3. Bankim Chandra / §fbH 9§

4, Rabindra Nath Tagore / ey SR

Correct Answer :-

« Rabindra Nath Tagore / fdgamy &R

16) The coral reefs are the marine counterparts of which of the following? / WdT¢el Ad

sfor, Frafefea & 9 feae! st ufausr 82
1. Savannahs / SWIBICSENT U A (JaTT)

2. Scrubland / TN (ThaS)

3. Temperate forests / AT g

4. Tropical rainforests / S ey aul-aq

Correct Answer :-

« Tropical rainforests / S ey aul-a

17) The Head Office of Export Promotion Council for Handicrafts (EPCH) is located at? /

gwaRre fata dadq ufvue (§ddiea) &1 gy gz @ 82



1. Delhi / faeef!

2. Jaipur / SIIYR

3. Varanasi / IRTOT
4, Kolkata / CANEARI

Correct Answer :-

« Delhi / fact

18) Which one of the following aroused a wave of popular indignation that led to the

massacre by the British at Jallianwala Bagh? / Fafafea 4 4 fea Udh = S TR
Pt TEX UaT HR &} ForIP SRUT 3N gRT SAferiarar T § RETR §ai?

1. Government of India Act 1919 / HRd IR AT 1919

2. The Rowlatt Act / G JclC T (DTl HTI)

3. The Arms Act / 3IY Sffafram

4. The Vernacular Press Act / 0|"|Ird<1LQ1~{ U T

Correct Answer :-

« The Rowlatt Act / G dic TIE (PTall BI)

19) Which one of the following is not a method used for the assessment of personality? /

HfRId & TP AT & g TN 3t 7 areit faft Fafafaa @ #19 d@ a8 22
1. Project method / SIS faf&r

2. Projective method / H&rdt fafdr

3. Objective method / I¥IAY fafey

4. Subjective method / 3TAMS fafd

Correct Answer :-

+ Project method / PEISEIRCIRS

20) Which is not a third Century BCE stupa? / TIRIR} RTaTeq! g9 Qﬁ CIRSU DI A1 81
??

1. Dhamek Stupa / ey U
2. Kesaria Stupa / ST Ty
3. Amaravati Stupa / STFRTAd! WU



4. Sanchi Stupa / Jidl U

Correct Answer :-

« Dhamek Stupa / ey 4

21) Which is not a structure in the premises of Qutub Minar? / $dd R & tReR A o
Y A= RN 82

1. Quwaat ul Islam mosque / Podd 3l FTIH II'%FC{

2. Alai Darwaza / \3f|?1'|_5t QX drall

3. Aibak’s Magbara / U§® &1 HhHaR]

4, Iron Pillar / Fﬁ% BT THT

Correct Answer :-

« Aibak’s Magbara / QGIOD CARSCIN

22) Which is the first Biosphere reserve in India? / HRd o g dl IARB IR Rerd (ﬂ?f&l'a
SigHgd) I AT 8?2

1. Sunderbans Biosphere reserve / W Wﬂ? ﬁTﬂ_q;

2. Nilgiri Biosphere Reserve / N STRfrER ﬁﬂé

3. Nanda Devi Biosphere Reserve / a7 %?ﬁ IR R R ﬁT;l‘qg

4, Gulf of Mannar Biosphere Reserve / HAR Pl tcﬂ_ep[ IOREER o

Correct Answer :-

« Nilgiri Biosphere Reserve / A sEferaR fod

23) Which Gupta king contested the Huna according to Bhitari Pillar Inscription? / frerst

T R & AR f5 T 3w 1 91 & fore e fapar ur
1. Samudragupta / H& It

2. Chandragupta I / I 11

3. Chandragupta I / I
4. Skandagupta / Th I

Correct Answer :-

« Skandagupta / Th I



24) Which among the following was the last European country to rule Goa? /

fFraferfaa & 9 Mar R IRE $3A arar sifaw gRIGR x1 S 91 912
1. Netherlands /:ﬁaﬁg

2. England / 37018

3. Portugal / JciTTl

4. France / i

Correct Answer :-

« Portugal / g?f"ﬂﬁ

25) Which among the following is known as “Coffee Port” of the world? / Ffafafeada

5 fay & «Prot T & &9 H ST 91T 82
1. Santiago / Sfe3mN

2. Santos / ¥

3. Rio de Janeiro / A1 81 SFRI

4. Buenos Aires / &9 3O

Correct Answer :-

« Santos / g

26) Which metal was unknown to Harappans? ack:i Yrq T TS WH SMIATd Y2
1. Bronze / P

2. Silver / XoId

3. Copper / ATl

4, Iron / él@
Correct Answer :-

. Iron/?’ﬁ_s'

27) Which Constitutional Amendment Act removed Right to Property from the list of

Fundamental Rights? / g Saufae weies srififaaw 3 TJufRy & iR & wifers
PRI A A ger faam

1. 42" /429

2. 415t / 41d



3, 46 / 463
4. 44t / 449

Correct Answer :-

o 44th /44d

28) To promote equity in agriculture the government had introduced system where the
maximum size of land which could be owned by an individual is fixed. /qw‘ﬁ H g i Sgrar e &
Rewer A wore! 3= 3t <, o v safad gRT @rfuga yfy &1 siffeaw smeR Faa 3|

1. Land ceiling / Yf¥1 Tifei (i Tifer)
2. Land reform / H{H YR

3. Land Parcel / 4 URf@

4. Land fixation / Yf¥ FeRor

Correct Answer :-

e Land ceiling / ﬂ;[&[“v‘ﬂﬁﬂ (afs' Tfei)

29) Second five year plan was popularly known as . / faia veradfa g &t aieia v
| & AT | ST STt T

1. Gandhian Model / Tiefardt Atea

2. Nehruvian Model / Ag%dlcl Aled

3. Mahalanobis Model / eIy Alsd

4, Harrod-Domar Model / %QIS@WH\’W

Correct Answer :-

 Mahalanobis Model / HeTa-IeT Alsd

30) Match the educationists with their contribution. / ﬁT&‘ﬂﬁﬁ BT 3P fﬁTI_Q"F'T A e &3



Educationists Contribution

a. Lev Vygotsky / Toig i. Project Method / U=
GIEElISSED] fafer JoRE=ar fafe

b. BF. Skimmer/dT ii. Constructivist Learning /
. R AT CIATaTeT 3iTeram

c. Kilpatrick / foreritfes iii. Jurisprudential Inquiry /

faferemes gasl A=

d. Donald Oliver & James P. Shaver | jv. Programmed Leaming /
/ SieTes 3oy ARSI i, FHHHAEGE I
A

1. a— (iv); b — (iii); ¢ — (ii); d — (I)
2. a—(i); b— (ii); ¢ — (iii); d — (iv)
3. a— (iii); b — (ii); ¢ — (iv); d — (i)
4. a—(ii); b— (iv); ¢ — (i); d — (iii)
Correct Answer :-

+ a—(i1); b—(iv); ¢ — (i); d — (ii1)

31) Which is the process of assessing the progress of learners by identifying areas of difficulties
through diagnoses and remedial actions as part of the instructional process? | frd=me® itk &
R & Fu # FgM iR STIRTHS ST $ WA A S50l & &3 3 ugar s3& Rranfial ot
I BT SMHe A B Uipa1 1 82

1. Summative Evaluation / GNTieIe Jedidh
2. Final Examination / 3ifcd Ttef

3. Integrated Evaluation / Tdbidd Jedidh
4, Formative Evaluation / FHafuTeI® HAihT

Correct Answer :-
« Formative Evaluation / FHfomet® HA—ihT

32) Which is the forest conservation movement in India where local people prevented the cutting

down of trees? /MR § DI TT I WEIUT TSI 8§ el TITHT &N TSI H HIed T Pd 82
1. Bhoodan movement / Hal- 3figia
2. Cooperative movement / TgeHTRAT JTGIa

3. Consolidation of land / Y& ST TehIeh T
4, Chipko movement / RIge! 3figie



Correct Answer :-

« Chipko movement / FIU®! 3figia

33) Which of the following is the correct psychological way of proceeding in Social Science teaching?

/ Frafafea o & war amnfore fagr Rigror & Smt gg- 1 3R a-amae a¥ier 82
1. Difficult to Simple / Bfo" I T

2. Concrete to Abstract / Jd o 3

3. Unknown to Known / 3f3ITd ¥ 3Td

4, General to Particular / IHT=I ¥ fafRy

Correct Answer :-

» Concrete to Abstract / lefﬁ GIT(L?Y

34) Which among the following is an example for non-institutional credits? / Fafaf@a ¥ d S
R-TRINTA 91 & g T IEIeR0r 32

1. Regional rural banks / &= AT S
2. Nationalised banks / T@W d%

3. Moneylenders / 9IgPR

4, Cooperative banks / GgHRI 4%

Correct Answer :-

» Moneylenders / HIghR

35) Which among the following is a non-conventional source of energy? / Frafafaa & @ o ar St
1 Y& TR-UYURTTA Wid 52

1. Natural gas / Wﬁ?
2. Petroleum / a@ﬁﬂﬂ
3. Coal and lignite / CABNIREIN f?‘l'ﬂT%?.’

4. Wind energy / Ua- Sl

Correct Answer :-

» Wind energy / 4d+ Sl

36) Projective techniques are used for the assessment of one’s J Tt Wa?

¥ qeaiea ¥ g Mofaea ao-e) &1 ST it wrar g1



1. Development / famr
2. Personality / Sfadd

3. Growth / Q@
4, Intelligence / g@

Correct Answer :-

« Personality / @

37) is a policy which aimed at replacing or substituting imports with domestic production.

/o AfE e Stz I o e Swre @ WReid S3e1 a1 9ae ¢ |
1. Balance of trade / IR I

2. Balance of payment / YITdI= dda

3. Export reduction / fafd g te=ur

4. Import substitution / ST FcRUTA

Correct Answer :-

« Import substitution / 3T YIaRIT

38) observed that ‘Social Sciences is perhaps the singular curricular area which can prove
to be the most effective tool for providing education in the context of all the core components
envisaged by National Policy on Education.’ / =y & o fagm, xmae ued urtey &
& St fRran w gy Afd grT afvefera 93 ge1 gee! & dav # Rign UeM w37 o1 g9 yHd) Susun
Hifed g wapar g 1"

1. National Curriculum For Elementary And Secondary Education (1988) / UTyfie 3R Hreafiies e & forg
YT UTGTshH (1988)

2. National Curriculum Framework (2005) / TI'@TI UTSTad| Pt T (2005)
3. Secondary Education Commission (1952-1953) / AT 18T ST (1952-1953)

4. A Framework of NCERT (1975) / TTRIS3RE} &1 T 0T (1975)

Correct Answer :-

» National Curriculum For Elementary And Secondary Education (1988) / T SR Areafiie Rren & forg
AP UTSTsHH (1988)

39) Who said that, “The United Nations was not created to take humanity to heaven, but to save it
from hell.”? / fa= Fe1 fob, "Higa Y ATaar ®1 W@t A @ S & frg 78 a7 mar o, sfer 58 RS
| g9 & forg a=mar war 42

1. Dag Hammarskjold / ST FIRENS
2. Antonio Guterres / TSI ™



3. Boutros Boutros-Ghali / W Wﬂﬁ'ﬁ

4. Ban Ki—Moon/ S @ - T

Correct Answer :-

o Dag Hammarskjold / ST g

40) Who was the first Indian to be the Governor General of India? / W%m Gﬁ’h’
T Rd) §99 913 Ugd HRAI B 42

1. C. Rajagopalachari / 91, ISANUTARIR
2. Fakhruddin Ali Ahmed / TRESE 3(cll 38HS

3. Lal Bahadur Shastri / dTd §8TgR TRl
4, V.V. Giri / 9141 IR

Correct Answer :-

 C. Rajagopalachari/?ﬁ. SATATATER

41) Who upheld the view that religion can never be separated from politics? / fram EX Hicavkal
TR ¥ & 4 ot Ireriifa & St sre =81 fvan s wean?

1. Dayanand Saraswati / TG BSRECEll
2. Raja Ram Mohan Roy / XTSI TH o I
3. Gopal Krishna Gokhlae / AT Cayl TR

4, Mahatma Gandhi / HeTHT Tieht

Correct Answer :-
« Mahatma Gandhi / HETHT Tieht

42) The process of transferring the income from asset owning people to non-asset owning people is

./ uf¥Eufy & wifere @ Y IRuREulty & it ard @ I S R $39 31 ufshal-
gl

1. Vicious cycle effect / g&dIeh UHTd
2. Trickle-down effect / TU Rig (I¢h -S89 UHTd)
3. Balanced growth strategy / ﬂ@%ﬁ@@@]‘ﬁﬁf

4, Lorenz curve / @RS dgh

Correct Answer :-

+ Trickle-down effect / €Udh Rigd (f(Chd-S13 Uma)



43) The Members of Parliament are free to raise any matter that they think is important during

./ P IR G & e fpdt +ft 39 Ava #1 So & e WaaA gl &
oY 38 @raT @ & Wyt 31

1. Question Hour / UHhTc]

2. Adjournment Motion / I YIdTld
3. Half -an-hour discussion / 3T & U &l ==

4. Zero Hour / [PTA
Correct Answer :-

+ Zero Hour / R[DI]

44) Which among the following rivers is most described in the Rig Veda? Fafafead

S I A4 BIdg A T i afvfa g2
1. Ganga / T

2. Sindhu / &Y

3. Saraswati / Rl

4. Chenab / oI

Correct Answer :-

+ Sindhu /ﬁ[ﬂ

45) Who among the following is the author of “Ain-i-Akbari”? / fufafaada “3Tg1-U-

B DT AED DI 8?2
1. Ishwar Das /‘s‘%ﬂam

2. Abul Fazl / 3T tholcl

3. Mulla Daud / §&”IT aldhq
4. Akbar / 3 d}

Correct Answer :-

. Abul Fazl / 3/gd Told

46) is a system where by the farmers pool their milk produced according to different grading
and it is processed and marketed to urban centres through cooperatives. / wﬂwﬂwmn%aﬁ
frar srerT-3renT Aol & SFAR 3UA AT gU HT TURU FHRd § 3R 34 FgapR! afifaal & wreaw @
T T 2t il | faspa fear smar 21



1. Operation Mantra / STORRA H
2. Operation Torrent / 3{TIXYH €Re
3. Operation Serve / STORTA Id

4, Operation Flood / SHTIRTA TS

Correct Answer :-

e QOperation Flood / SR TS

47) Which of the following banks installed the first ATM in India? / fFafafaa A 4 fPg do 3 yRa A
ygdr g e wiTfud fear

1. ICICI / 33T 3TS T3

2. HDFC / TISIumat
3. Yes Bank /ﬁm db

4, HSBC / GaugeE]

Correct Answer :-

« HSBC /TIusEt

48) The Road Back to Nature is a book discussing the global ecology and destructive farm practices. Who

is the author of this book? / ﬁ?%g#ﬂﬁ%mﬁiﬁéﬁ?mﬁﬁwﬁﬁw
Tl HX 3G TP AP 81 5GP &b AGd DI 82

1. Bill Mollison / foref Hiferg

2. Albert Howard / 31@?? Eﬂaé

3. Eliot Colman / TfeRIE HIcriH

4. Masanobu Fukuoka / W'l:n@ wahw

Correct Answer :-

« Masanobu Fukuoka / FRITg B3{idhT

49) The learning strategy which is associated with 5 E’s (Engage, Explore, Explain,

Elaborate and Evaluate) model is: / 3ifSRTH YU it 5 § & AU JS1 55 € (¥, S=A9y,
raT, faRaR iR geuie) disd §:

1. Constructivism / IEAIG
2. Social inquiry model / BIEIEED PENIE] Hrsd
3. Branching programming / R[d IR

4. Team teaching / €19 fR7&f01



Correct Answer :-

« Constructivism / GI-IAIG

50) The process of collecting, analyzing, recording and interpreting information about

student learning is known as: /Wa? aﬂ@m%ﬁwﬁaﬁaﬁrmmﬁ, fazafa
B, NP8 B iR faga w31 @1 ufsban &1 f wer s &:

1. Role play / I
2. Assessment / HTdh
3. Testing / Y&

4. Dramatization / ATCH T JUIAR

Correct Answer :-

o Assessment / 3{Thcld

51) To choose appropriate teaching strategy, the teacher considers which of

the following factors? / Iugad fRrer Ivifa g & fore, Riere Fafaf@a d a
59 RS R faR Fa1 8?2

1. Sports/cultural days in the school / ¥h ¢l | @FTWW fgag
2. Visits by inspecting authorities / fFRI&0T BT GRT YHUT
3. Abilities of the learners / RIeRIAT o1 A

4. Year Plan given by the school / faemea gridl T|€ CLRIERI]

Correct Answer :-

« Abilities of the learners / ﬁf&m AR IR

52) The term “brainstorming” was first coined by: / g "faaR-dy=" 9 Ugd
$d §RT WRqd fobar T o :

1. Osborn / 3&

2. Johnson / S-1G

3. Caldwell Cook / ®Teedd b
4, Bruner / 1R

Correct Answer :-

« Osborn / 3NgaT



53) Idealism strongly promotes: / 3(GRIAIG Tdl {4 &I d¢raT 3T 8:

1. Source of knowledge is nature / U fd I BT Al gl
2. Senses are the gateways of knowledge/ HdGTU I BT gR gl

3. Axiological belief in absolute values / TqUl Tl & TRUTATE! faym™
4. There are many truths as there are many paths / ®s Id g @i s I &l

Correct Answer :-

. Axiological belief in absolute values / TqUT Hedi # STRUTATG! fAY™

54) To attend the individual differences in the class, what should the teacher of Social

Science do? /$&nﬁw%nmamﬁaﬁm§ﬁ%ﬁﬂz,mﬁﬂﬁmﬁw -

1. Uses variety of learning experiences / [afH# S{fERTH @lﬂﬁ-ﬁh BT SUINT HAT 5|

2. Gives different types of assignments / TATHT THR P SATSTHE (Fdwn) Tar |

3. Conducts tests end of the week / JKIIS & 3id | tlﬂ&‘fUT ST Bl %I

4. Makes sure all the students are present everyday / I8 g1 Bl & [ Tt B & w1 IURUA
Bl

Correct Answer :-

o Uses variety of learning experiences / faf¥ra sifermy 313‘1-@ BT ITINT BT %l

55) The teacher shows photo copies of the letters written by Mahatma Gandhi while
teaching a lesson on the struggle for Independence to: / Rrere wadzan Ty IR UTS ua?r
g0 Wt it gRT ford T wHl 1 e wifvat sHfee i

1. Supplement the concepts with facts / d & 1Y HTURUMST Dl Gﬁ%e[ & fog

2. Adopt deductive approach / [GUEICCY TPPHI 3T & fam|

3. Use problem solving procedures / THIT HHTYUTH Ufharai &1 TN & & fem
4. Execute a project / BRI G| (uﬁaa P! eTfed o & forg

Correct Answer :-

» Supplement the concepts with facts / qul & Y SFYRUMS Bl GilS_ ek fog

56) Who set up the Indian Independence League? / YR TaaadT T foaa =ITfud @17
1. Dadabhai Naoroji /E'IET’J-I'I'sC EINS!
2. Rashbehari Bose /Wﬁ?ﬁ@hﬂ



3. B.R.Ambedkar / §.3R. 3{GSH
4. Mahatma Gandhi / HgT&T ieh

Correct Answer :-

« Rashbehari Bose / Wﬁ%ﬁ IR

57) CANCELLED

Which of the following is metamorphic rock? / Frafafeaq @ 9 sraiaia & P %?
1. Marble / TTHRHAR

2. Sandstone / I3 YR

3. Mica / 3{Hd

4. Schist / R

Correct Answer :-

. Schist/ R

58) CANCELLED

Ajanta Paintings represent the scenes from: / 3reiar & i e & ezl &t E'Q'Iﬁ %
1. Jatakas / S IdT

2. Mahabharata / HETHRd

3. Ramayana / XTHIIU]
4. Upanisads / 3Uf9g

Correct Answer :-

o Jatakas / SIhTdI

59) EBP stands for: / Sa1Ul @7 faxgd ¥ 3:
1. Evidence Based Practice / Q‘%@F\q sTe Ufgeg

2. Evidence Based Problem / TfdS~g %8 UleciH
3. Education Based Practice / Q§35Q|:1 ste Ofgey
4. Education Based Problem / Th Y %8 Wlscid

Correct Answer :-

« Evidence Based Practice / E@@T\q ste Ufdeg



60) pensity of population is computed by which of the following method. / STHIST % U9

@1 o e | 9 5 faftr gy 9t ot 21

1. Female population divided by area / & d gRT fauTford Afear SHxive
2. Male population divided by area / &A% d gIRT fauford T3 ST

3. Area divided by total population / I ST gRT fauiiord éshd

4, Total Population divided by area / SFHd gRI fauTford S ST

Correct Answer :-

« Total Population divided by area / AT gRI fauTford S T



